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HomeworKk:

» Read & write al formulae.
> Do all the examples.
» Complete all exercises from page 252 & 253.

Y ou are not allowed to use calculator.

Subject- Opt. Mathematics

If A = 60°. B = 45° and cos(A — B) = cosA - cosB + sinA - sinB. find the value of cos15?
fA =30° B = 45° find the value of sin75° when sin(A + B) = sinA - cosB + cosA - sinB
'_ A =60°, B =45 and cos(A + B) = cosA : cosB - sinA - sinB, find the value of cos105°,
tanA + 1anB

f A = 30°and B = 45°, find the value of tan75% when tan(A + B) =7 =" 8

If A =90° and B = 45°. then find the value of sin135° when sin(A + B) = sinA - cosB +cosAsinB.




The End.



